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29 Weyl B¥ICHBEL 72— MR

Ay, By, Dy, Eg 78, Fa, Go = I5(6) BLD Coxeter 77 7 T IdAEEIIIL— bR & (IZAET % Coxeter 77 7
T(W(®),A) ¥ LTHNS, 5t L 72 EREEE W (D) 1X Weyl BELIEIENS, B, BIFEHOH LR 22050,
B, XU C, xErh 3,

HIFiCINoRERML— PROFER O CV O, BL—MEEACP BLUEEILV— b ae ® 2H%
5, HMAEL—bRA,,B,,C,,D, ZOVWTIEW =W(®) BXUZDV ~OIEHEHT,

291 A,
Vo= {3 e | S e = 0} < R,
&= {ueV | (v,v) = 2} N8I Ze, = (e —; | 1< i 4 <nl,
A:i={a; =61 —e3,00: =63 —E3,...,Qp = Ep —Ept1}, QA=€] —Ep =01+ -+ ap,
W =G6,11, € DIRATOEMT V IZIEM,

292 B, #
Vi=R", @:={veV|(vv)e{l,2}}Nd]1Ze;={xe; |1 <i<n}U{fe; x¢;|1<i<j<n}
A:={ay:=¢e1 —eg,a3: =3 —€3,...,0p_1 = Ep_1 —Ep,Qp ‘= Ep}

&:51 + €9 :a1+2a2+--«+2an_1+2an,
W =6, x (Z/2Z)", &, & e; DIERAFDEMRT, (Z/22)" 1% &; — —e; TIEM.

293 C, ®
V=R" ®:={veV|@v)e{2,4}}N@] 1Ze; ={£2 |1 <i<n}U{xe;te;|1<i<j<n},
Ai={ar:=¢€1 —€2,a2 1= €2 —€3,...,Qp_1 1= Ep_1 — En, Oy = 26, },

a =21 =2a1 + 200 + - + 20051 + Oy,
W =&, x (Z/2Z)", /% B, OF& [Fkk,

294 D, B
Vi=R" ®:={nveV|(v)=2}Nal Zs={xe;+te; |1<i<j<n},
A:={ag:=¢e1 —€9,a0:=€3 —€3,...,0p_1 = En_1 —Ep, Ay ‘= En—1+Enlt

&:51 + &2 :OL1+2042+"'+204”_2+OL”_1 + .
W =6, x (Z/22)" ", &, 1¥ e; DIRZFOEMT, (Z/22)" " \ZBEME DI 5L ¢; — —e; TIEM,

295 Gy B
V= {Z?:laigi | Z?:lai =0} CR?,
O :={veV]|(vv)€{2,6}}NdB_Ze;
={x(ei—¢;) |1 <i<j<3}U{£(2e; —¢; —ex) | {i,4,k} ={1,2,3}}, [®|=6+6=12,
A={aj 1 =¢e1 —€2,00 1= =261 + 2 + €3}, =23 —¢e1 —e2 =3 + 2a9.
W = D¢ 1FALEL 12 D ke,

;k/\o_g‘::\i < o
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296 F,HE
O EEHRTDHOICHBMINKE T LCV 2HATE, [0|=48T, EX1DHDL2DEDN 24T 0H 3,

V:=RY L:=0L,Ze+Z(3iY0 ),
:={vel](vv)e{l,2}}

={te; e |1<i<j<4}U{te; |1<i<4}U{i(xertertestes)l,
A={ay :=er —e3,ap :=e3 — €4, 03 ==&y, a4 1= 5(e1 — €z — €3 —€4) }.

a=¢1+eg =201 + 3as + das + 2ay4.

297 Eg &
HOMBIWZRT LCV 28AT5, 9= (3) -4+2%/2=240 TH 5.

V.= RS, L= {Z?Zlciei | Cc; € Z?Z?:lgi € QZ} + Z(%Z?:l‘gi)’
d:={vel|(vv)=2}={teite|1<i<j<8U{IN} | +e|— HMEHHUA },
A= {061 = %(61 — €9 —E3 —E4 —E5 —E — €7 —|—€8),O(2 =81+ €2, = Ej—1 — Ej—2 (3 <1< 8)}

a=¢ey +es.

298 E, &
Coxeter 77 70 Es BlOWHR 77 7T s Z LITHERT 5. A(Es) = {a1,...,as} C ®(Es) C R® & Eg &l

D= HZBEOBML— MEEEEL (@] = (§) - 4+2+2(5) + ) + () =126 £ 5,

V :i=R{ay,...,ar} C R,

P .= (I)(Eg)mv
= {iEi iE]‘ | 1 < ) <j < 6}U{i(€7 —88)} U{i%(€7 —eg + Z?:l iEZ‘) | E @EF‘U) — li%?éﬂlﬂﬁl },
A:={m,...,ar}, a=¢cg—er.
299 EgH#
U By oL — bRB L OBHML— MESEMS, [0 = (5)-4+2(5) + () + (3) =72 £ 5,

V =R{ay,...,as} C RE,
O = d(Es) NV
={tei+e;|1<i<j<BYU{ti(es—er—eo+ 2o, t&) | Y OO + I3ZHUE },

A:={a,...,a6}, a=;(e1+ea+e3testes—ce—er+eg).
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